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2./ Two impedances Z, = (8 + J6) Q and Z,

5.

6.

PART-B
(Electrical & Mechanical)
SECTIONI
(Electrical)

Fiad Iy, for thie circwit shown in figure 1, using Superposition theorem. 30
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Figure 1

= (3 — J4) Q are in parallel and this

combinatiar takes 25 A. Determine the curient and power taken by each branch. 3@

Derive and explamn the two Wattiieter method of measurement of three phase
power for a balanced star connected load. Discuss the variation
different power factoys of loads from unity io zero.

s in readings for

30
A short shuat compound d.c. generator delivers 100 A to a load at 250 V. The
generator. has shunt-field, series field and ammature resistance of 130 2, 0.1.Q and
0.1 Q respectively. Catculate the voltage generatéd in amature winding. Assume
1. V drop per brush. 30
~Explain the working principle of thiree phase synchronous motor. 30
. g - - I & b[ H ‘—h—-—-zv -
Show that maximum stress in a single-core cable is dlog_D/d
Where V is'the opératir}g voltage, d and D are the conductor and sheath diameter. 3¢
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